l?"] — ’;Xe. + (5— +o¥ TVz = Rdieg
53

Te.r Comserdacia del nombre, m3ssic bha de S

121 = x40 +0 =D ,X=’\5lg

Ve- (mterdzvio &l viombre ;\"6mic,
53=Y+(1)+O

PQ." T‘aV\)r: =t )<c

54
LQ& \’art:co\es @_ S E‘.Mc’re,w, QWIL Jnz \)e,kbc:\‘at ck 2 1Q5 K-M/._a

: i \
| L; \O\AS‘ \.QCA é\od\g BS&oC\cl.z Seex
‘ -54 —
A\ = h : h _ GGlxle 263 Mé;zm
Py q1018Y, 20l

Lb) ?0- 2 cﬁue, 6\ ‘\oéb .\'-'\Colz\ €A Cerelxl Q?AS a\ ‘(2,S°/c>

ha de p2ssar un EMFS '\?ysa\ 2 3 ?Qp:cd&g de ‘kwl.‘égg\"\tj\'acief
iRy

4
8 \1/

?zr ‘\.:m-t', 'E o 3Tl/2 J 24 die ’

J3 que 25% =




